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' X 5 E DI4EE F OE Ol & (B oA H ) 136,425,300 H
I = & 5 F195 F EMAE (A E L &R HEK) 124,023,000 H
I = £ IBERT&EFHAIE & E & R i & (H A HF) 125,511,276 H
I 5 5 KEBHITYET R HA B IR HE (A AL E LB IEK) 114,101,160 H
AW % A H SF5E1A23H FxEkmE fEATSE HATHER HESFUHT
NO e RPN T N 117, 117X % =
1| FLEREEER (%) W [E—ER 121,570,000 2
2| FAREER (¥K) wmAE RE 122,600,000| 3
3|(MR) EIFHEIE #7H IEBH 122,840,000| 5
A(B)EILESE AUESI-TPS 123,000,000| 6
5| (%) LB E% B— 122,815,000 4
6| = EEE =E T 123,020,000( 10
7|RRRE R (R) TRRE RE 123,000,000| 6
s|(HREER K Nl [EX 121,400,000 1 & HL
9| =FNEEE% (¥F) ki = 123,000,000 6
10| = R EE% (k) BIR E4 123,000,000 6
1] (BR) RHEEER HE RF 123,400,000 11
E) MBIk Rl EMI- DA S

(A%L£%E 121,400,000 FH X 1.1 = 133,540,000 H %4L£%8)

HERRUHAHETROE 12,140,000 A
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' X 5 E DI4EE F OE Ol & (B oA H ) 3,636,600 M
Z i F 5 $375 F EMAE (A E L &R HEK) 3,306,000 M
% it £ IBEF&EF AT EREIERFRT =K &l R M & (A &) - H
Z B & PR KEBHIETYET Eib #R B I FRHE (A AL E L ERIEK) - H
AW % A H SF5E1A23H FxEkmE EERR HATHER HESFUHT
NO e RPN T N 117, 117X % =
1| (B) LN EH BT i mEE 3,300,000 8
2|1[EATE /LN —MBEELEHAR| HE BE 3,200,000 1 & HL
3| () BRAERE RN HSETYEEF | MHE K= 3,260,000 5
NESEHaESET A Bh3E ZiE
5|A—IT—arHILEVE () R FZ 3,300,000( 8
6| ARHEBEEEMERT ARHE Bt 3,240,000 3
TBELTEHBMENE thfE SF 3,250,000 4
8| A B EESEHE AR E 3,230,000 2
BN RERFTEHA BO ®X 3,270,000| 7
10| (B) NEEEERFTEHA AH FE 3,260,000, 5

E) TAETMERI— k) EILRE BN 25

(A%L£%E 3,200,000 F x 1.1 = 3,520,000 H %4L£%8)

HERRUMAHEROE 320,000 M




